1 1 2 3 Z 5 3 7 I 8 I 9 I 10
DRAWING REV. THIRD ANGLE
woeed 310—879301% O DO NOT SCALE | -(@)-H—F- wrokcnon |IF IN DOUBT ASK
M8 x 18 deep
58.0(2.28") /C Bore #8.4 x 5 deep
- P3 P4
28.0(1.1")
fe—— 7] ”
S L& Short pillar 26(17) 22.5(0.89") a | - l| . Py | a
= E__ Long pillar 38(1.5") o P1 P2 0
Q- E-— 1§ —Q-— TR e ———— - —
& & ) for extended length MIN. 16(0.6") o | /[
/ MAX. 54(2.1%) — | | J 1 8 —
FYG. SLOT FOR fix both together /| | 0152006
M6 SCREW e | I N of 64(2.5")
Ea=—— 7
i g P @ P4 ]
I ) ‘ —
5. 4(0.6")J @\ Mounting Bracket @\
25.4(1")
Optional Single End Scale Mounting Kit
ID R2.8/360°
Rotational OVERALL SCALE LENGTH MINIMUM = TRAVEL LENGTH + 258(10.2")
adjustment
99.40
= Armoured cable 6.0 (0.24") =88.45=
5 (min. internal bend radius 30(1.2") 7 0.05 D
° ~ 8 710.00Z [0
O = i ° |
h:|=J R17/360° mm:_l
ﬁptattionatl = &
adjustmen _ 1 A .
2008 Y02) I h [
Adjustment - l -1 T T/ T ][_ T r = __}
| | 11 =

T

AR

38(1.5")
Adjustment

SCALE MOUNTING BRACKET ADJUSTMENT

B

22.5(0.89”)

Notes

A — Encoder head mounting points 4off, 2off M5x8 deep holes symmetrical both sides.
B — Encoder head mounting points 2off for M5x6 deep holes.

C - Scale pillar mounting studs M8 x 15 (use spacer washer as required).

D — Machine Guideway.

E/F - Encoder head mounting faces.

G — Indicating paralle! alignment required between encoder head and axis travel.

H — Scale end mounting points to machine bed.

P — Installation alignment points.

35.0(1.38")

53(2.1")

@),
Mounting Bracket
21.0(0.83") + D Bracket —
14.5(0.57) ~
® §C \
222 1
° Mounting Bracket
g /
/] N ] 1 /1

Még

DIMENSIONS — mm (ins”)

=88.40 =

[7.0.05 D]

//10.002"|D ©

FOR FURTHER INFORMATION REFER TO INSTALLATION MANUAL

TITLE DIMENSIONAL DETAILS for MATERIAL/ FINISH SCALE | UNLESS OTHERWISE  TOLERANCES:— 0 DEMAL PLAGES 05
hE—, STATED :— 1 DECIMAL PLACE 0.2
S300 ENCODERS 1= : 2 DEOMAL PLACES 01
DIMENSIONS ARE IN MM. ANGULAR 21
— 04— THS IRANG 5 THE PRIPERTY OF

DRAWN[C.WHITMORE [10—04—17 NEW VEWALL HEASIREIENT STSTENS MTED. SHEET  [pRAWNG| REV.

ICHECKED . ALL England THE INORMATION THEREDN HAY MOT BE_ COPED 08 USED NUMBR316_8793O ISS. O
REV.ISS.{ DATE | C.N.No. ALTERATI|ON [REV.ISS.| DATE C.l\f.No. ALTERATION APPROVEDl Llelcester Ing an WITHUT WRITTEN Pmlm 1 0F 1 |
1 2 3 4 5 6 7 8 9 10




